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a—F fh4 ik | PERR (kg) &% (1) i o e PE Hh (BAL)
Y3002 =4 (ZEAT) 6 5, 389 1,728 356 356 | B 6kg
39630 EOA~fY¥ 7 1,901 86 86 86| B 205
31900 ¥ 13 12, 631 1,512 1,512 270 B 13kg
34330 E/od 107 32, 747 86 76 22 | B 5344
34100 /I 38 9, 482 65 65 32| B 1887
34200 /I 73 16, 194 238 216 216 | BA 73kg
34500 tB—= 24 1,814 86 86 65 | B 24kg
34500 B —<= 18 1,944 32 32 32| B 604
34571 X7V A (GR) 3 1, 280 81 81 76| &M 16#
34572 NT Y A (3E) 5 2,311 76 70 70 BH 3218
Y3033 | ZEHHAL 10 2, 592 130 130 130 | & 2008y |
Y3033 ZEWNAL 207 46, 310 324 194 173 | BN 207kg
36200 HEHE 60 13,176 281 216 173 | BN 60kg
36600 7-En¥ 60 14, 256 238 238 238 | B 60kg
34910 &K 14 1,393 281 281 270 | B 51
34930 LA 151 16, 497 43 38 11| BH 5044
35940 A¥EAEA 91 79, 758 972 972 756 | BN 91kg
34800 B B 59 51, 867 97 86 86 | B 585% v
36340 T LN REZE 43 25, 240 648 594 378 | BN 43kg
34600 LLEDIRSLL 4 3, 629 86 86 86 | BN 25y |
48000 F U7 310 32,519 756 756 281 | B 621
Y4010 /NEFT VD 12 2,333 389 389 389 | BN 61&
49470 Ry Tz TA—Y 89 68, 407 108 70 43| BN 89118
721011 27 L —3 56, 138 49 32 6| BN 2, 3304
71030 K7&F 14, 931 173 22 22 | B 1854
71032 KZ7%®F (FF) 1,512 65 43 43| B 304
71150 LT 2,592 108 108 86 | &MY 253
71179 H A 1, 296 108 108 86 | BN 135K
71184 =z gy 7, 452 86 54 54| BN 1104
Y5004 JEY 18 6, 804 378 378 378 BN 18kg
39870 #Dfth 1 540 540 540 540 | B lkg
53101 F L KR 1 648 1,296 1,296 1,296 | BN 1kg B
30100 7ZWVWZ A 166 31, 104 248 119 119 | F# 1904
30300 AZ 2L 50 9, 288 1,944 1,836 1,836 | & #& 54— A
31100 H3E L 60 4,968 1, 404 1,188 1,188 | EEF 44— A
33810 HHHE 4, 752 119 119 119 RS 4045
Y5005 47K3E A 1,534 1,534 1,534 1,534 | K%y 17—
31700 ¢y 30 4,212 1,404| 1,404 1,404 |BEE 34— R
31700 ¥ ¥ X 150 20, 412 1,512 1,512 1, 188 |REA 154 —*
31800 1EH5NAE 5 3, 591 144 144 144 | #%8 2548
31950 H#A¥ L 9 7,128 2,376 2,376 2,376 | K4y 3r—A




Rk | | OHE , i £H
22— F | 4 Fik | PERR (kg) (M) =l | S ET PE Hh (HLAL)
31900 X 5 2, 160 216 216 216 |EIR B 107 (500g)
32800 125 8 2, 160 27 27 27 | Bk 803
34300 729 2L 5 2,916 2,916 2,916 2,916 | HEA 1 —2
34400 b= b 28 16, 200 2,376 2,376 2,160 REA T —A
34460 =k E & S 10 6,998 146 146 146 | IR B 48,8y 7
34100 #HiJK 2L 20 8,640 2,160 2, 160 2,160 |FEIR B 4ir— R
34100 #1/I L 10 6, 480 3, 240 3, 240 3,240 | ‘BB 24—
34200 )N 10 2, 484 2, 484 2, 484 2,484 BIRE 14—
34520 FRE—< L 4 2, 160 1,080 1, 080 1,080 FEIR S 2 — A
36200 EEnE 3L 80 14, 472 1,836 1,836 1,782 El 84— A
37200 L x 92 2L 24 10,692 1,836 1,836 1,728 | HE 64 — A
33400 L& % 5 2,333 | 130 130 130 B% 181#
33600 3k 1 1,080 270 270 270 | £ B 448
33300 Tuyal— 7 3, 160 144 144 44| 7 AU A 22fH
38100 AL uWizit 6 3,931 70 70 =1 56,8y 7
33100 7 AT H R 10 2,592 1,296 1, 296 1,296 % 24—
31500 /IEA3E 24 5, 184 65 32 32 | & [ 12048
32500 AOiF 1 1,188 1,188 1,188 1,188 K%y 17—
37560 BRIE 1 3, 456 432 432 432 | K5y 8Ny
38400 ZDEFH 20 3, 348 17 17 16 | EIf 20048
38521 S L LE 6 3,737 86 86 36 | #&@ i 604
38604 TV L XE 3 2, 187 86 70 70 | & [ 304%
38620 EW\H 2 1,269 76 59 59 | & [ 2048
48000 U7 4L 14 1,512 756 756 756 | 7)1 2{@
49300 XU 4 T A— 5 2,916 2,916 2,916 2,916 =2 —T— 1/ —2R
7R
Y4007 F—AF XA 5 3, 348 3, 348 3, 348 3,348 =a—T— 1H—2R
| | =k
&t ) 2,221 739,175 |
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